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一、将你的姓名、考号填写在答题卡的规定栏内，将考号和考试科目在规定的栏内用2B铅笔涂满涂黑。考试结束后，把试卷和答题卡放在桌上。试卷和答题卡均不得带出考场。

二、仔细读懂题目的说明，并按题目要求答题。答案一定要写在答题卡的指定位置上，写在试卷上的答案无效。

三、选择题用2B铅笔将选中项涂满涂黑，主观题用蓝、黑圆珠笔或钢笔答题，使用铅笔答题无效。

Information for the Examinees:

This examination consists of THREE parts. They are:

   Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)

   Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)

   Part Ⅲ: Writing (20 points, 30 minutes)

The total score for this examination is 100. The time allowed for this examination is 2 hours (120 minutes).
 Part Ⅰ: Reading Comprehension              (50 points)                                  

Instructions:

· This part will take 60 minutes.
· There are FIVE sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g.[ A ].
Section A  Questions 1- 5 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
You do not need every word to understand the meaning of what you read. In fact, too much emphasis on individual words both slows your speed and reduces your comprehension. You will be given the chance to prove this to yourself, but meanwhile, let us look at the consequences. 

First, any habit which slows down your silent reading to the speed at which you speak, or read aloud is inefficient. If you point to each word as you read, or move your head, or form the words with your lips, you read poorly. Less obvious habits also hold back reading efficiency. One is “saying” each word silently by moving your tongue or throat or vocal cords (声带); another is “hearing” each word as you read. 

There are habits which should have been outgrown long ago. The beginning reader is learning how letters can make words, how written words are pronounced, and how sentences are put together. Your reading purpose is quite different; it is to understand meaning. 

It has been estimated that up to 75% of the words in English are not really necessary for conveying the meaning. The secret of silent reading is to seek out those key words and phrases which carry the thought and so pay less attention to words which exist only for the sake of grammatical completeness. 

An efficient reader can grasp the meaning from a page at least twice as fast as he can read the page aloud. Unconsciously perhaps, he takes in a whole phrase or thought unit at time. If he “says” or “hears” words to himself, they are selected ones, said for emphasis. 

1. To understand the meaning of what you read, you _____.    

A. need to know all the words

B. should pay attention to each word

C. should slow your speed

D. need not pay attention to every word

2. Bad reading habits include all of the following EXCEPT _____.

A. pointing to each word as you read

B. forming the words with your lips

C. saying each word silently

D. taking in a whole phrase at a time

3. According to the passage, advanced readers differ from beginning readers in that _____. 

A. they read to learn how letters can make words

B. they read to understand meaning 

C. they read how written words are pronounced 

D. they read how sentences are put together 

4. When he reads, an efficient reader does all of the following EXCEPT ____.

A. seeking out key words and phrases

B. paying less attention to grammatical words

C. reading the page aloud as fast as he can 

D. taking in a whole thought unit at a time

5. The main idea of the passage is _____.

A. how to read a passage efficiently 

B. how to improve reading speed 

C. how to grasp the meaning from a passage 

D. how to overcome bad reading habits 

Section B  Questions 6-10 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
A greenhouse is a building made of glass which is used for keeping plants warm when the outside temperature is low. In a similar way there are several gases in the atmosphere which trap the heat generated by the sun and prevent it from escaping. These gases are known as “greenhouse gasses” and the way in which they trap heat in the atmosphere is called the “greenhouse effects”. This is not simply air pollution like photochemical smog, for example. Most of the main green house gases – carbon dioxide, methane, nitrous oxide and water vapour – occur naturally in small amounts in our atmosphere, and without them the Earth would be 30 degrees colder and human life would not exist. In other words, the greenhouse effect is a natural process which is to some extent beneficial to us. 

The problem is that in the last century and a half, we have been putting excessive amounts of these gasses into the Earth’s atmosphere by burning large quantities of coal and oil and by cutting down forests. In 1850, there were 280 parts per million of carbon dioxide in the atmosphere. Now there are 360, and this figure is expected to rise to 4,560 by the year 2030. 

The rapid increase in greenhouse gases is making the world warmer. The world’s temperature has already gone up by half a degree this century, and the see level has risen by 10 centimetres. If the amount of carbon dioxide in the atmosphere doubles there will probably be a rise in the Earth’s temperature of between 1 and 4. This may seem a small increase, but it would be enough to cause major changes in geography and agriculture. Large areas of the world would be flooded, and some regions would become dry and unable to produce crops. It is important, too, to consider that there may be a delay of about 30 years in the greenhouse effect. This means that we are probably experiencing only now the effect of gases put into the atmosphere prior to the 1960s. Since then, our use of these gases has greatly increased.  

6. “Greenhouse effect” refers to the process in which _____.  

A. plants are kept warm in a glass house  

B. a greenhouse traps heat inside  

C. some gasses keep heat in the atmosphere  

D. the Earth is kept warm by the sun  

7. According to the passage, the Earth would be 30 degrees colder if _____.

A. there were no atmosphere around the earth  

B. there were no air pollution like photochemical smog  

C. greenhouse gasses occurred in large amounts 

D. greenhouse effect were not beneficial to us  

8. The world’s temperature has been going up because all of the following EXCEPT that _____.  

A. people are burning too much coal and oil  

B. people are cutting down forests

C. people are producing more greenhouse gasses  

D. people want to make the world warmer

9. The greenhouse effect of the earth has resulted in all of the following except ______.

A. a rise in the Earth’s temperature between 1 and 4

B. a rise of sea level by 10 centimetres  

C. 360 pars per million of carbon dioxide in the atmosphere

D. a smaller land area on the Earth  

10. The greenhouse effect people experienced in 2006 was probably the result of greenhouse gasses put into the atmosphere _____.  

A.   in 1960s

B.   in 1970s  

C.   in 2036 

D.   in 2030 

Section C  Questions 11-15 are based on this section. (10 points)

Directions: In this section, there is one passage followed by a total of five pieces of information marked 1, 2, 3, 4 and 5 in Column A. Match them with their correspondent parts marked A, B, C, D and E in Column B. Skim or scan the text as required and then blacken your answers on your answer sheet.
What Is a Leap Year?

As February 29, 2004 comes, some people may notice something unusual about the date. Last year, there was no February 29 th . In fact, there has not been a February 29 th since the year 2000. Why has February 29 th occurred only once in four years? To understand this confusing arrangement, it is necessary to understand the calendar (历法) that is currently used in the United States.

Nearly all modern societies use some kind of calendar to decide on the dates and times of everything, from religious holidays to business meetings. The kind of calendar used determines what makes up a week, a month, or a year. Some societies use lunar calendars （月历）, which are based on the rotation （转动） of the moon around Earth, and others use solar calendars, which are based on the rotation of Earth around the sun. The United States, like much of the rest of the world, uses a solar calendar （日历）.

The solar calendar used by most of the world today is known as the Gregorian calendar. Named after Pope Gregory XIII, who introduced it in 1582, this modern calendar is the end result of hundreds of years of fine-tuning （精确调整）. It was developed from the Julian calendar, which was created in 46 BC by Julius Caesar.

The Julian calendar was also a solar calendar, based on the time it takes for Earth to travel one complete circle around the sun. In Julius Caesar’s time, although astronomers believed that the sun revolved（旋转） around Earth, they still managed to make fairly accurate measurements of the length of a complete cycle. A solar year, they calculated （计算）, was about 365.25 days long.

Julius Caesar, deciding that it would be difficult to add ¼ of a day onto each year, ordered one extra day to be added every four years to the month of February, creating what would be called “leap” years. This calendar was used by the western world for over a thousand years.

Unfortunately, there was a problem with the Julian calendar. When Julius Caesar ordered a leap year every four years, he was putting in too many extra days. A solar year is not 365.25 days long, but in fact 365.24219 days. The difference between the actual length of the solar year and the approximated value is very small, but over several hundred years it began to add up. By the 1500s, spring holidays were starting to happen in the summer.

In 1582, Pope Gregory XIII came up with an idea of how to fix the problem. He realized that there were too many leap years in the Julian calendar, so he reorganized it into a more complicated system. In the new calendar, there is still a leap year almost every four years, but there is also a new rule. If the year ends in 00, it is only a leap year if the year’s number can be divided by 400. For example, 1800 and 1900 were not leap years, but 2000 was.

The new calendar was so accurate that over the next several hundred years, it was adopted by almost every country in the world. Over 400 years after its introduction, the Gregorian calendar is currently in use world-wide.    
	
	A
	
	B

	11.
	365.24219 days 
	
	A. lunar calendar 

	12.
	a year in which one extra  day is added to the month of February 

	
	B. a solar year

	13.
	a calendar that is based on the rotation of the moon around Earth  

	
	C. Pope Gregory XIII 

	14.


	at whose time earlier calendar was reorganized so that it became very accurate
	
	D. Julius Caesar 


	15.
	at whose time astronomers made fairly accurate measurements of the length of a complete cycle 
	
	E. a leap year 



Section D  Questions 16 - 20 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
It all started at the beginning of fifth grade. At first, Carmen wasn’t really sure what was happening. In class, she had to squint to see the blackboard clearly. She had to do the same thing when she watched a movie. As the fuzziness got worse, she became more and more worried. It was important for her to see the notes the teacher put on the board.

It wasn’t long before Carmen found herself squinting all the time, but she didn’t want anyone to know that she was having a problem seeing. 
One day, her teacher said, "Carmen, are you all right? Are you having trouble seeing the board?" Carmen shook her head. "I’m fine, Mrs. Cruz," she said, but she knew she couldn’t pretend much longer. 

At home, she had to sit closer and closer to the television in order to see the picture. Her mother noticed that and decided to set an appointment with the eye doctor for her. Carmen protested, but her mother’s mind was made up. 

Three days later, Carmen had new glasses and instructions from her doctor to wear them all the time. Carmen frowned in the car the whole way home.  

"All of the kids at school will think I’m a nerd," she said. Her mother smiled and shook her head. "You look just as beautiful with those glasses on as you do without them," she said. But Carmen didn’t believe her. 

The next day, Carmen kept the glasses in her pocket as she walked into the schoolyard. She avoided her friends and stood alone, feeling miserable.
Suddenly, she heard her friend Theresa shout.  

Carmen ran over to the other girls. "What’s wrong?" she asked. 

"My silver ring is gone!" Theresa cried. "My sister sent it to me from California. It’s very special and I can’t lose it!" 

Carmen could tell that Theresa was very upset. They all looked for the ring in the grassy area of the playground. 

Carmen realized that she could search better if she could see better. She took the glasses out of her pocket and put them on. The objects and people around her came into sharp focus. She caught her breath. Everything looked so different! So clear! She looked down at the ground and a glimmer of silver caught her eye. It was the ring. 

"Here it is," she shouted. "I’ve found it!" She handed it to Theresa. 

"Thanks Carmen," she said. "I never thought we'd find it." She paused. "Hey, I didn’t know you wore glasses. They look great!" 

Carmen had forgotten that she was wearing the new glasses. "Thanks," she replied shyly. 

As they walked back toward the school building, two more girls from her class complimented her glasses. Carmen smiled. "Maybe wearing glasses won’t be so bad after all," she thought.
16. What was wrong with Carmen at the beginning of the story?

A. She had difficulty seeing clearly.

B. She sat too close to the TV.  

C. She lied to her teacher.

D. She pretended that she was fine.

17. What did Carmen think of wearing her new glasses?

A.  She liked them very much and wore them all the time.

B.  She thought she was beautiful with new glasses on.

C.  She believed she looked strange with glasses on.

D.  She thought they were very useful.

18. Why was Carmen able to find Teresa’s lost silver ring?

A. Because she had a good eyesight.

B. Because she put her glasses on.

C. Because she caught her breath when searching.

D. Because a glimmer of silver caught her eye. 

19. Which is the following is closest in meaning with the word “compliment” in the last paragraph?

A. Say nice things to someone to praise them.

B. Say bad things to someone to hurt them.

C. Say strange things to someone to laugh at them. 

D. Say humorous things to someone to cheer them up.

20. The best title for the story is _____.

A. The Lost Silver Ring 

B. Carmen’s New Glasses 

C. What Can Glasses Do? 

D. It’s All Clear Now 

Section E   Questions 21- 25 are based on this section. (10 points)

Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Hibernation (冬眠) is one of the main adaptations that allow certain northern animals to survive long, cold winters. Hibernation is like a very deep sleep that allows animals to save their energy when there is little or no food to be found. The body functions of ‘true hibernators’ go through several changes while they are hibernating. Body temperature drops, and the heart rate slows. For example, a hibernating woodchuck’s body temperature drops by more than 30 degrees Centigrade, and its heart rate slows from 80 to 4 beats per minute! Other true hibernators include the jumping mouse, little brown bat, eastern chipmunk, and several ground squirrels. 

Other animals, such as the skunk and raccoon, are not considered true hibernators, as they wake up in the winter to feed, and their body functions do not change as much. Since they only sleep for a little bit at a time, the term dormancy or ‘light sleeping’ is used to describe their behavior. The largest animals to hibernate are bears. Their heart rate may slow down from a usual 40 –50 beats per minute to 8-12 beats per minute, but their body temperature changes very little, so they are able to wake up quickly.

Hibernating animals have a special substance in the blood called hibernation inducement trigger, or HIT. This substance becomes active in the fall, when the days become cooler and shorter. When HIT becomes active, the animals start preparing for winter. Some animals store food so that they can eat when they wake up, and some animals eat a lot in late summer and fall to add more fat to their bodies. This fat keeps them warmer and acts as a source of energy while they are sleeping. Some animals also make changes to the places where they will sleep. They add leaves and grasses to keep them warm. 
21.  Why do animals hibernate?
A. Because winters are long and cold in the north.
B. Because they need to save energy in winters.
C. Because there is little or no food in winters.
D. Because they need a long and deep sleep.
22.  Which of the following is NOT a change in the functions of an animal’s body when it hibernates?
A.  Body temperature falls.
B.  The heart beats very slowly.
C.  A special substance is active.
D.  HIT makes them feel cold.
23.  Raccoons and skunks are not ‘true hibernators’ because _____. 

A. their body functions do not change
B. they eat in the winter from time to time
C. they are light sleeping animals
D. they eat a lot in late summer and fall

24.  When does hibernation inducement trigger, or HIT start working?
A. In autumn.
B. In winter.
C. In late summer.

D. The passage doesn’t mention it. 

25. How do animals prepare for hibernation?
A. They store food.
B. They eat a lot.
C. They change their places.

D. All of the above. 

Part Ⅱ: Vocabulary and Structure             (30 points)                                  

Instructions:

· This part will take 30 minutes.
· There are TWO sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g. [ A ].
Section A    Questions 26- 35 are based on this section. (15 points)
Directions: Read the following sentences and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.

26. The course was attractive because the practical work had been ______ with the theoretical aspects of the subject. 

A. embraced         B. adjusted         C. alternated       D. integrated

27. The child is thoroughly _____ because they always give him whatever he wants.
A. wasted            B. spoiled        C.  destroyed      D.  uneducated
28. The school committee hoped that their choice of play would be ______ with the students and their parents.
A. recognized         B. popular          C. favorable        D. fascinated
29. We looked for a table to sit down, but they were all ______.
A.  reserved for        B. engaged in      C. used up         D. taken up
30. The ______ crown jewels are kept in the Tower of London.
A. valued             B. valueless          C. invaluable       D. usable
31. He put forward a proposal that the company _____ with its rival at once. 

A. negotiates         B. negotiate          C. negotiated         D. had negotiated

32. Joseph was very lucky ______ with his life; he almost did not get out of the room.
A. to escape        B. to have escaped      C. to escaping        D. to be escaping
33. The back garden of our house contains a lawn, ______very pleasant to sit on in summer.
A. which is         B. which it is            C. it is              D.  where it is
34. John’s score on the test is the highest in the class; he ______ last night.
A. must study             B. should have studied 

C. must have studied       D. is sure to study
35. The earnings of women are well below that of men _____ educational differences that are diminishing between the two sexes.
A. although            B. though            C. despite of          D. in spite of
Section B     Questions 36 - 45 are based on this section. (15 points)
Directions: Read the following passage and fill in each blank by choosing the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Although it is difficult to calculate current divorce rates and to compare them with those of earlier periods, most social scientists conclude that divorce is more   36   in America today than during any other time in our history. The rates do seem to be going up.   37   psychological reasons, the major explanations are all social factors,   38   involving change --- in values, in institutions, and in the position of women. 

The major change in value involves a shift from a philosophy of self-sacrifice to one that emphasizes individual happiness. The principal reason for getting married today is to satisfy one’s psychological needs; failure to have these needs   39   now leads to dissolution of the marriage   40   than an attempt to stay together “for the children’s sake.” Instead of all divorces being regarded as a sign of personal failure, some divorces today are viewed as a sign of psycho-emotional health, of personal growth, and of the ongoing struggle for   41  .

Institutions affecting family life have also changed. For instance, most churches now recognize divorce. In addition, 47 states now have some form of no-fault divorce laws, and free legal aid is   42   for those wishing to obtain a divorce.   43   the change in the position of women has   44   to increasing divorce ration in the following way: it has made women less depend on men, and therefore freer to opt out of marriage in   45   the general equality of the sexes.

	36.
	A. countable

	B. severe
	C. popular 
	D. increasing 

	37.
	A. Beside
	B. Besides
	C. But for
	D. Except

	38.
	A. which

	B. it
	C. that
	D. all

	39.
	A. meeting

	B. to meet
	C. met
	D. meet

	40.
	A. rather
	B. other
	C. more
	D. less

	41.
	A. self-control
	B. self-satisfaction
	C. self-insurance
	D. self-fulfillment 

	42.
	A. available

	B. agreeable
	C. reasonable 
	D. considerable

	43.
	A. Generally
	B. Additionally
	C. However
	D. Finally

	44. 
	A. contributed
	B. attributed
	C. distributed
	D. achieved

	45.
	A. enhancing
	B. strengthening
	C. promoting
	D. arising


Part Ⅲ: Writing             (20 points)                                  

Instructions:

· This part will take 30 minutes.
· Your essay should be no less than 150 words.
Write your essay on the Answer Sheet. 
Write an essay on the topic “The Problems I Have in My English Study”. You should base your essay on the outline below:

1. 遇到了哪些困难

2. 产生这些困难的原因

3. 如何克服这些困难
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Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)
Section A  
1-5  DDBCA
Section B  
6-10  CADCB
Section C
11-15  BEACD
Section D

16-20  ACBAD  

Section E

21-25  BDBAD  
Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)
Section A
26-30   DBBDC       31-35  BBACD 

Section B

36-40   CBDCA       41-45  DADAC
Part Ⅲ: Writing (20 points, 30 minutes)
作文满分为20分，分为内容（满分6分）、语言（满分12分）和书写（满分2分）三部分打分，三部分分值相加的分数即为作文的总分。各部分评分标准如下：

	项  目
	分  数
	标                                                准

	内

容
	6
	文章切题，内容充实，有独到之处；篇幅适当；结构安排十分合理

	
	5
	文章切题，内容适合；篇幅适当；结构合理

	
	4
	基本切题，但内容有待充实；篇幅适当；结构需适当调整

	
	3
	大致切题，但欠缺关键内容；篇幅不够；结构需进行较大调整

	
	0~2
	没有切题，包含大量无关内容，篇幅不够，结构松散

	语

言
	11~12
	行文流畅，语言得体；句子结构有变化，用词丰富；无语法错误

	
	9~10
	语言自然得体；准确地使用常用语法结构；语法和选词基本无错误

	
	7~8
	语言基本得当；有少量语法错误、选词错误，或拼写错误，不致引起阅读困难

	
	5~6
	语言有不当之处；关键内容表达上无严重语法错误，其它语法和词汇错误不致引起阅读困难

	
	3~4
	语言错误多，导致对关键内容的阅读理解困难或误解

	
	0~2
	语言错误过多，无法阅读理解

	书

写
	2
	书写工整，能清晰认读

	
	1
	书写有不工整之处，造成认读困难

	
	0
	书写不工整，全篇认读困难


